Lee County Board Of County Commissioners	
Agenda Item Summary	Blue Sheet No. 20021169

### 1. REQUESTED MOTION:

ACTION REQUESTED: Request Board approve Change Order No. 2 for Contract 1966, B02-01, County Wide Sidewalks, in the amount of \$85,695.00. The original Contract and Change Order No. 1 totaled \$346,728.50, making the new Contract total \$423,423.50. The City of Bonita Springs is funding this Change Order. Also, approve Budget Amendment Resolution in the Transportation Capital Improvement Fund for project 6002 in the amount of \$85,695.00, and amend the FY02/03 - 06/07 CIP accordingly.

<u>WHY ACTION IS NECESSARY</u>: Board approval required for Change Orders in excess of \$50,000.00 and to accept outside funding.

<u>WHAT ACTION ACCOMPLISHES</u>: Enables Lee County DOT to construct an 8' concrete sidewalk along Woods Edge Parkway in Bonita, for the City of Bonita Springs, utilizing our contractor and established contract prices.

2. <u>DEPARTMENTAL CATEGORY</u> :						3. MEETING DATE:		
COMMISSION DISTRICT #			9E	-		10-29-2	2002	
4. AGENDA	GENDA: 5. REQUIREME		IENT/PUR	NT/PURPOSE: 6. REQUESTOR OF I			RMATION:	
		(Specify)						
X CON				A. COMMISSIONER				
ADM	INISTRATIV	E	ORDINANCE					sportation
APPE			ADMIN.			C. DIVISION		
1		1	CODE	ľ				
PUBI	PUBLIC X OTHER			BY: Scott Gilbertson				
WALK ON								
TIME	E REQUIRED:	:				_		
7. BACKGR	OUND:							
				ioners award	led Contrac	et 1966	to Gulf Paving in the ar	nount of
,	or various sidev							
Funds are avai	ilable as follows	s: 206002307	700.5065	40				
8. MANAGE	MENT RECO	MMENDAT	IONS:					
9. <u>RECOMMENDED APPROVAL</u> :								
A	В	C	D	E			F	G
Department	Purchasing	Human	Other	County		Bud	get Services	County Manager
Director	or	Resources		Attorney				
;	Contracts		•••	Ac	<u></u>			
10/16/07	1) 60	ALL	BY S	Midrea	OA	OM	I Risk GC	$\alpha \gamma_{a}$ . $\alpha$
12/11/	( Tagan	(0) 10 (1)	1011.	2	R. 102	122	2 1901 2 1981	10.16.02
1 Victoria	10/2,	\		Jusie	+0/1/10	10/1	0 100 00 700	10.16.02
10. COMMISSION ACTION:								
RECEIVED BY COUNTY ADMIN. (Rec. by CoAtty								
APPROVED /0-17-0 w								
DENIED LICON Deter 11/1/102								
DEFERRED COUNTY ADMIN. Tiese /1:00 Am.								
		OTHER			10:	5-4	Forwarded To:	
								· · · · · · · · · · · · · · · · · · ·
							84 A104	
							11:00 4/1	

# RESOLUTION#

Amending the Fund 30700 Transportation Capital Improvement Fund budget to incorporate the unanticipated receipts into Estimated Revenues and Appropriations for the fiscal year 2002-2003.

WHEREAS, in compliance with the Florida Statutes 129.06(2), it is the desire of the Board of County Commissioners of Lee County, Florida, to amend Fund 30700 Transportation Capital Improvement Fund budget for \$85,695 of the unanticipated revenue from Bonita Springs and an appropriation of a like amount into an expense account and;

**WHEREAS**, the Fund 30700 Transportation Capital Improvement Fund budget shall be amended to include the following amounts which were previously not included.

POWER AND DESCRIPTION

Additions		\$68,911,706
20600230700.337400.9007	Contribution- Bonita Springs	\$85,695
Amended Total Estimated Revenu	es	\$68,997,401
	APPROPRIATIONS	
Prior Total: Additions		\$68,911,706
20600230700.506540	Improvement Construction	\$85,695
Amended Total Appropriations		\$68,997,401
Fund 30700 Transportation Capital Estimated Revenue and Appropriat	Improvement Fund budget is hereby am	nissioners of Lee County, Florida, that the ended to show the above additions to its
day of, 2002. Attest:		e Board of County Commissioners on this  RD OF COUNTY COMMISSIONERS
day of, 2002.		
, 2002.  ATTEST: CHARLIE GREEN, EX-OFFICIO CLERK  By:		RD OF COUNTY COMMISSIONERS LEE COUNTY, FLORIDA
day of, 2002.  Attest: Charlie Green, Ex-Officio Clerk		RD OF COUNTY COMMISSIONERS
, 2002.  ATTEST: CHARLIE GREEN, EX-OFFICIO CLERK  By:		RD OF COUNTY COMMISSIONERS LEE COUNTY, FLORIDA

#### LEE COUNTY CONSTRUCTION CONTRACT CHANGE ORDER

NO.: 2

(A Change Order Requires Approval by the Department Director for Expenditures Under \$25,000 or Approval by the County Manager for Expenditures Between \$25,000 and \$50,000 or Approval by the Board of County Commissioners over \$50,000

CONTRACT/PROJECT NAME: County-wide Sidewalks

CONTRACTOR: Gulf Paving

PROJECT NO.: 6002

Account #: 20600230700.506540

CONTRACT NO.: 1966

BID NO.: B02-01

CHANGE REQUESTED BY: County

DATE OF REQUEST: 05/20/02

Upon the completion and execution of this Change Order by both parties to the Contract the Contractor is authorized to and shall proceed to make the following changes in the Contract Documents:

Description: 8' concrete sidewalk North side of woods Edge Parkway; West end in Bonita.

Purpose of Change Order: Add a sidewalk to the Contract for City of Bonita - Funded by City

of Bonita.

Attachments (List documents supporting change)

SEE ATTACHED BACK-UP

CHANGE IN CONTRACT PRICE:

CHANGE IN CONTRACT TIME:

Original Contract Price

Original Contract Time

\$334,292.50

180

Calendar Days

Previous Change Orders No.  $\underline{0}$  to No.  $\underline{1}$ 

Net change from previous Change Orders

\$12,436.00

10

Calendar Days

Contract Price prior to this Change Order

Contract Time prior to this Change Order

\$346,728.50

<u> 190</u>

Calendar Days

Net Increase (Decrease) of this Change Order

Net Increase (Decrease) of this Change Order

\$\_85,695.00

33

Calendar Days

Contract Price with all approved Change Orders

County Attorney's Office

Contract Time with all approved Change Orders

\$432,423.50

223

Calendar Days

It is understood and agreed that the acceptance of this modification by the CONTRACTOR constitutes an accord and satisfaction, and represents payment in full (both time and money) for all costs arising out of, or incidental to, the above mentioned change.

RECOMMENDED:

By:

Constitute (if applicable) Date

Contractor

Department) Director

Corporate Seal

APPROVED:

ACCEPTED:

By:

Contractor

Date

Contractor

Date

Corporate Seal

Contracts Management

Date

APPROVED:

Contracts Management

Date

ACCEPTED:

Contractor

Date

Contractor

Date

Corporate Seal

Corporate Seal

Corporate Seal

Corporate Seal

Corporate Seal

COUNTY APPROVAL:

Department Director (Under \$25,000) Date Approved:

BY:

County Administrator (Under \$50,000)

Date Approved:

<u>ву:</u> Chairman

Board of County Commissioners

(Over \$50,000)

Date Approved: \_\_\_\_\_

CMO:011 09/25/01

# **GULF PAVING COMPANY, INC.**

P.O. BOX 1584 3460 METRO PARKWAY FT. MYERS, FL 33902-1584 PHONE (941)334-3652 FAX (941)334-0940

# **PROPOSAL**

TO: LEE COUNTY PUBLIC WORKS

5/10/2002

1500 MONROE STREET Fort Myers Florida ATTN: RANDY CERCHIE

JOB NAME AND LOCATION:

LEE COUNTY SIDEWALKS
WOODRIDGE BONITA SPRINGS

We hereby submit specifications and estimates for:

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT
1	MOBLIZATION	1	Ls	\$2,500.00	\$2,500.00
2	MAINTANCE OF TRAFFIC	1	LS	\$2,500.00	\$2,500.00
3	EMBANKMENT	1000	CY	\$8.00	\$8,000.00
4	SIDEWALK GRADING	2275	SY	\$2.50	\$5,687.50
5	CLEARING	1	LS	\$1,500.00	\$1,500.00
6	SWALE GRADING	1000	LF	\$5.00	\$5,000.00
7	SODDING	6000	SY	\$2.25	\$13,500.00
8	8' CONCRETE WALK 4"	2275	SY	\$18.50	\$42,087.50
9	CURB CUT	28	LF	\$15,00	\$420.00
10	POLE RELOCATION	1	EA	\$1,500.00	\$1,500.00
11	HANDRAIL	20	LF	\$75.00	\$1,500.00
12	LIGHT RELOCATION	1	EA	\$1,000.00	\$1,000.00
13	SIGN RELOCATION	5	EA	\$100.00	\$500.00
	TOTAL ABOVE				\$85,695.00
			11.		
L					